Friday Maths Sheet

Reasoning ]

LO Divide 4 digit numbers by 1 digit numbers

4. Kate completes the following

[ Practise J

1 True or false? 3,963 + 3 =1,321

3|13 % 3
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2. The missing numbers are all equal.
Complete the part-whole model,
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calculation.
3 2 1 3

319 6 3 O

1,000 1,000 1,000 100 100 10
1,000 1,000 1,000 100 100 10

1,000 1,000 1,000 100 100 10

Explain her mistake.
Calculate the correct answer.

5. |Belle has written @ comparison

Truve or false? 6,309 = 9 =70%
IJse place valve counters to help you.

Fl1e 30

Thousands | Hundreds Tens Ones

statement.

2,160 + 8 > 2526 = 6

Is she correct? Explain how you know.

6. |gen completes the following
calculation.

2 0 1 1

418 2 4 4

Explain his mistake.
Calculate the correct answer.



